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1 (a) Complete the sentence about the nervous system.

The brain and spinal cord form the ...... C &V))‘Ya’ .......... nervous system and the
g

nerves coming into and out of the spinal cord are part of the pbY)PhG?G,

nervous system. 1

(b) Fig. 1.1 shows part of a human eye and three neurones that conduct electrical impulses
between the eye and the brain. These neurones are involved in the pupil reflex.

.......

not to scale

Fig. 1.1

(i) State the type of neurones identified in Fig. 1.1.

A . Mobkoy. neuvrone.............i.
5 ....Rela.?.......n_a.u.za.n.a ................................................................... 2]

(iii) Write the correct letters to complete the reflex arc.

s 1 c 1l B | A | ;

(1]



(iv) Table 1.1 shows the names of some parts of the eye, their functions and the letters in
Fig. 1.1 that identify the parts of the eye.

Complete Table 1.1.

Table 1.1
part of the eye function letter in Fig. 1.1
Slacken fo make
suspensory ligament G
lens +thick or more
convex.

Civaurlar
muscles

E
— Rebracks +he Iz’ib}- D
T

contracts in response to a bright light

contains a high density of cones for colour

F OV ‘ a vision

(4]
(c) Impulses travel within the neurones through electrical impulses.

Explain how impulse travels in between two neurones.

l - Newurotransmiler Filleol vesicles

..?. £ S na./a.h‘.t.,. ....... Q )b ...............................................................................

The d:#ﬁue:nfb&&czf‘and
l' > bir dforcce/:lor,ro eX:s .e......m.c.t,b)nn
.a.n......pas.k..-...s. NopHe. neyone.. ...
- .This es.ampuylse. fo. be......
generated. in. nekd neurone.....

= Receplori.. are.complemenltar
fo.. olfwm/-ran.smz//aen ..................... ’7

[Total: 13]




2 (a) A group of students investigated the digestion of fat in milk.

e They added an alkaline solution to the milk.

e They divided the milk into four test-tubes.

e They added lipase and bile salts to some of the test-tubes, as shown in Table 5.1.
They did this at the same time for each test-tube.
They kept all test-tubes at 40°C.

e After 5 minutes, they added Universal Indicator solution to each test-tube.

Table 5.1
st tiibe SoRksHE colour of pH |nd|cat¢:r after 5
minutes at 40°C

milk, alkaline solution, lipase and bile

A orange
salts
milk, alkaline solution, bile salts and

B blue
water

c milk, alkaline solution, lipase and yellow
water

D milk, alkaline solution and water blue

Fig. shows the colour of the indicator at different pH values.

red | orange | yellow green blue purple D
0 /@ 4 6 8 10 12 14 O

Fig.

o0

(i) Explain why test-tube D was included in the investigation.

> D is. a control.. . .. . oo
» To.. compare. -ﬁ‘mb ...... lipase.. is.
. 'ru,b n.nble, ................... breakadocon.
.......................... fals. in.milk........nmo




(ii) Explain why the colour in test-tube A was orange.

> ﬁsﬁh&be&hmh})m&%bzle
» Plle. emulsities. Lak......
= lapase. breaks.down. fah.....
into.. falt ........g..c,.i.al.c......anal.il#.c.gm/.
- Ea.t.t#...a,u‘ s.xeduce LY pH
do. %aedic. .and catese.......
colour. chang®. ... 3
(iii) Explain the results for test-tubes B and C.
-  testwes HAS 20 Lifoa St S0 _fthere ir
no.. fally. acid.. foxmakon.......
= and..mn colourabanfe. ..... olue. /o
...... n n,bﬁammfe
= eswbec Mo Blle. S0 .mo._emulsibiealon
= So.lipase.. achvity..ie. slouer. So....
Ia.s.s....ﬁul.zy.....acia(s ...... are. formed...... v

(b) Enzymes have a specific three dimensional shape.

Explain why the shape of an enzyme is important.

? _Enzaume.. have. an. athive. Sile. .

whi b::cam,blemenl-arylo
shape..o £ _subskrate.. .. .0 .

> EnzZyume. binds. with.enly. sheerfc
................. 7 .m.b.r}'mul-ay'b¢

[Total: 12]
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3 Fig. is a diagram of the human female reproductive system.

Fig.

(a) Complete Table 4.1 to show the letter and the name of each of the structures that perform
these functions.

Table 4.1
function | letter name
releases oestrogen F .
ovarj)es

site of fertilisation | A ov;duo}'/ﬁz”o!?;aﬂ “‘tubes
site of implantation 6 3 pongz wall of uktrud
| { 0

site of sperm deposition L

vag ina 2

(b) Fertilisation is the fusion of the nuclei of a male gamete and a female gamete resulting in a
zygote.

State the number of chromosomes present in a human:

female gamete ........ 23 ......
7AYo [o) (- JERane 9’6 ..............

(2]



(c) Chlamydia is a sexually transmitted infection (STI). It is caused by a bacterium
Chlamyadia trachomatys.

Fig. 4.2 shows the number of reported cases of chlamydia in females in each age group in
one country.
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Fig. 4.2

Describe the results shown by the data in Fig. 4.2.

> . The. number. of. cases. increases. .
from.. 10 t0. 19 4g4ears. . and. then.....
decreases. fxorh. d0. to. 54. yeaxs:.

= Na..cases.. from. 55 %0. 55'?&45 .........
-> ...S.ke.e./o ...... decline. above. . 20-24. 4eays.:

(d) Chlamydia is caused by a bacterium.

(i) Suggest a treatment for chlamydia.

(ii) State the name of one other STI.

B 2 1 (]



(i) Complete the sentences about the spread of STis. conka mi naled .

[ J
STls are transmitted through the transfer of badyhuld.‘dunng sexual

contact. One way individuals can avoid the spread of STls is to use a type of

barrier contraception. One example of this type of contraception

«.Conadloms ... (2

(iv) Outline two ways in which the spread of STI can be reduced.

-----------------------

---------

[Total: 13]

4. Te sh’n? be fove blovd 4yang fucion




4 The four o'clock plant, Mirabilis jalapa, can have flowers of three different colours as shown

in Fig. 4.1.

" yellow

flower

crimson flower orange-red flower
Fig. 4.1
(a) A student crossed some crimson-flowered plants with some yellow-flowered plants

(cross 1). She collected the seeds and grew them. All of the plants that grew from
these seeds had orange-red flowers.

Complete the genetic diagram to explain the result of cross 1.

parental phenotypes crimson flowers X yellow flowers
parental genotypes ACA° X A'AY

offspring genotype

offspring phenotype
(3]




(b) Flower colour in M. jalapa is produced by proteins pigments called carotenoids

Explain in brief how these carotenoids are produced in plants.

> A.copy... ca.ro}'molal.t?em,:s
madel in. e borm. OFf m-RnaA..

...fh.c......b:u.c,......r.e,g.u.anc..e... ........ of. . m-RNA. b

(c) Farmer grow tall wheat plants to ensure good yield. Tall height is dominant over recessive.

How will a farmer ensure that a plant is homozygous dominant before crossing it for
CEEEEE—
producing other varieties.

o TS €r08S
< ...C.ms..c.i.:,ﬁ........ik......w..i..{t;....n.ce..cczfxe. ...............

...... A e
» JF. the. pre .¢..n.a;.......i.c......all......{:all, ..................

jarent is_homox gous and. IEJE.
is.. 507 kall ox Y%0Y dwarf. ik..

(2]



Flowers from M. jalapa were cross-pollinated.

(d) Explain the difference between self-pollination and cross-pollination.

SEFF Transhr oﬁ ,bollcn inun: /rom ......
anther to. . Shoma. of. same. ,blanr
cross Txrans.lerx..of. .auc.m r@ins. Prom..

anther.. la SkHgma..oF.. adiPLerenlk:.
()!"fm" of sye g cuc:

me species of plants are self-pollinated.

Discuss the advantages of self-pollination over cross pollination.

Self. . [2 ollinabkionm..........ooo.
> reQulres. only.one. . payenk..

-+ _mo..exidernall. b nllm alnr AS.. raywreq/
2 mo..neclkayx... i1s... rooluce......

= .Lgs..s....../20.11&0........?.).:ain.c.......ate....pra.du.acd-

-------------------------------------------------------------------------------------------------------------------------------------------------
.................................................................................................................................................
.................................................................................................................................................

[Total: 14]



5 Exercise that occurs over a longer period of time than weightlifting often involves aerobic
respiration as well as anaerobic respiration.

Fig. shows the oxygen consumed by an athlete during and after a 5000 metre race. N

s o-Fit
oxygen i
consumption
/dm? min-!

race starts race ends

time /min
Fig.

(@) Describe the athlete’s oxygen consumption during and after the race as shown in
Fig. 4.2.

You will gain credit for using the figures in the graph to support your answer.

- duing ..Kat.c......p.é.....a.&z.g.e.n.....cm.:u.m./:...hbn
increases. tohedh.. race sSkayks fo..
> 2.2dm3min" aF 2 minuktes.. . ...
- JF Skaye. conskank +Hll race.......
endds t alF 1% minetes .

<) after ....Il:._.ale.cx.e.a,s.u...... radually.......
5 o _0:25 dm 2 miA_aF 3.5 .




(b) Explain how this change during exercise is coordinated and why the oxygen consumption

does not return back to normal immediately after the exercise is finished.

< JInereascd. mesele conkraition.

..i.n.:..a:.c..mg..d...a.&.mk.zfc......t&s..ﬁix&ﬁan

> .1ore.. ca} ..... in.blonal. olecreases.
2 JPH..... which. is._ oledecled. . b#....bmin

- ..__li.t.a..z.n.......se.na/,c......zm,bu/.(.u.......{p

-’

=5
Y

‘heqaf~

and. lenas. for. fasker heavlF heal
and. bred thin rqre h remove

more...Co,. . 0nk.. - Moxe. 0, .
Less. . Di ....... con cen h'a. Ie.ad,c.....!n.

5 lnahLach_m_ttan:/zattnd fo
[Total: 9]

Liver wbhere it is broken down

= b? aerodbic z;séizgﬁan in to

L0, and waktey.



6 This question is about transport in plants.

(@) Two pea plants, D and E, were supplied with substances containing the radioactive
isotopes, carbon-14 (*“C) or phosphorus-32 (*2P), as shown in Fig. 4.1.

A leaf of plant D was exposed to radioactive carbon dioxide.
Plant E was placed into a solution containing radioactive phosphate ions.

growing point flower

{ clear plastic

nultntgnt bag with added nL"ttt:Iercljtd s%lutlon
soiuton radioactive wi : a .e
radioactive

carbon dioxide phosphate ions

plant D plant E
Fig. 4.1

After several hours the plants were analysed for the presence of the radioactive isotopes.
Sucrose containing '“C was found throughout plant D.

Compounds containing *P were found throughout plant E.

Complete Table 4.1 to show:

e the tissue in which each substance is transported;
e one possible sink for each substance.

Table 4.1

pea plant D E

substance '

transported sucrose phosphate ions

transport

e Phloe m X ylermn

s rools leaves
(2]



(b) State one substance, other than sucrose, that is produced in leaves and translocated
to other parts of the plant.

BmIne. . aciols............ e (1

(c) Explain how sucrose can be transported in the phloem upwards and downwards.

» hen_plant.is. ahle.. fo _photes. nihesis.....
2 leaves ave achling as source ...

trans

Yy melabolic reachons in =

......................................................................................

[Total: 9]

foplatm
3. Pbolocyn hesis .




7 Fig. shows the Calayan rail, Gallirallus calayanensis a flightless bird that lives in
Calayan Island in the Philippines. This species of bird was discovered in 2004.

Fig.

(a) State the name of the genus of the Calayan rail.

Galliyallds. ... 0

Many bird species are threatened by deforestation.

(b) Suggest three reasons why deforestation occurs.

U a0 QIO CHOPIS.......
> . to. . ‘build. houtest.... ...

s .t ebbaln. . weood. | paper...... (3]
For minin

(c) Suggest the likely effects of deforestglion on populations of bird species.

> HABIIal 1088 ..o
> fewer Nesk Sikes........ . e
> Mexe. eephosed. fo predators........
@ Mexe. competition.. for.. food........



(d) Some species of birds, such as the Calayan rail, are endangered.

Outline the reasons why it is important to conserve species.

predators o £ . C al..mf.an......za.i.l.,...._. )

[Total: 10]



